Schedule: C

Project No.: FEMA 2120-1(1)

Project Name: MOUNT WEATHER EMERGENCY OPERATIONS CENTER (AMENDMENT #3)

State: VA

Opened at: EFLHD, STERLING, VA

County: CLARKE

By: P. Schaad/ A. Underwood

FEMA-MT. WEATHER EMERGENCY

Date: 01/19/06

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Peggy L. Schaad

Date: January 20, 2006

Title: Contract Specialist

Contract Awarded to: KB Contracting, LLC

Date:

Contractor	Bid Amount	Responsive
KB Contracting, LLC	464,013.50	
P. O. Box 7490		
Fairfax Station, VA 22039		
Freyssinet, LLC	576,639.50	
44880 Falcon Place, Suite 105		
Sterling, VA 20166		
Shirley Contracting Company, LLC	1,039,945.00	
8435 Backlick Road		
Lorton, VA 22079		
Engineer's Estimate	450,000.00	

Date: 01/20/06

#### TABULATION OF BIDS

Schedule: C

Project No.: FEMA 2120-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			_
КВ С	ontracting, LLC		ALL	46,000.00	46,000.00
Freys	sinet, LLC			80,000.00	80,000.00
Shirle	y Contracting Com	pany, LLC		150,000.00	150,000.00
ENG	NEER'S ESTIMAT	ΓΕ		36,190.45	36,190.45
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
KB C	ontracting, LLC		ALL	10,600.00	10,600.00
Freys	sinet, LLC			6,000.00	6,000.00
Shirle	y Contracting Com	pany, LLC		20,000.00	20,000.00
ENG	NEER'S ESTIMAT	ГЕ		10,000.00	10,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
KB C	ontracting, LLC		ALL	10,000.00	10,000.00
Freys	sinet, LLC			3,000.00	3,000.00
Shirle	y Contracting Com	pany, LLC		50,000.00	50,000.00
ENG	NEER'S ESTIMAT	TE		8,000.00	8,000.00
20304-1000	LPSM	REMOVAL OF STRUC	TURES AND OBSTRU	UCTIONS (CONCRET)	E PIER CAPS)
KB C	ontracting, LLC		ALL	55,000.00	55,000.00
Freys	sinet, LLC			80,000.00	80,000.00
Shirle	y Contracting Com	pany, LLC		150,000.00	150,000.00
ENICI	NEER'S ESTIMAT	PIZ		45,000.00	45,000.00
ENG	NEER S ESTIMAT	l E			12,000.00
41410-1000	LNFT	CRACK, CLEANING A	ND SEALING	,	13,000.00
41410-1000			AND SEALING 100	7.00	700.00
41410-1000 KB C	LNFT			· · · · · · · · · · · · · · · · · · ·	·
41410-1000 KB C Freys	LNFT ontracting, LLC	CRACK, CLEANING A		7.00	700.00
41410-1000 KB C Freys Shirle	LNFT ontracting, LLC sinet, LLC	CRACK, CLEANING A		7.00 30.00	700.00 3,000.00
41410-1000 KB C Freys Shirle	LNFT ontracting, LLC sinet, LLC ey Contracting Com	CRACK, CLEANING A	100	7.00 30.00 200.00	700.00 3,000.00 20,000.00
41410-1000 KB C Freys Shirle ENGI	LNFT contracting, LLC sinet, LLC ey Contracting Com INEER'S ESTIMAT	CRACK, CLEANING A pany, LLC TE	100	7.00 30.00 200.00	700.00 3,000.00 20,000.00
41410-1000 KB C Freys Shirle ENGI 55201-0200 KB C	LNFT contracting, LLC sinet, LLC ey Contracting Com INEER'S ESTIMAT	CRACK, CLEANING A pany, LLC TE	100 RETE, CLASS A (AE)	7.00 30.00 200.00 5.60	700.00 3,000.00 20,000.00 560.00
41410-1000 KB C Freys Shirle ENGI 55201-0200 KB C Freys	LNFT contracting, LLC sinet, LLC by Contracting Com ENEER'S ESTIMAT  CUYD Contracting, LLC	CRACK, CLEANING A pany, LLC TE STRUCTURAL CONCI	100 RETE, CLASS A (AE)	7.00 30.00 200.00 5.60	700.00 3,000.00 20,000.00 560.00
41410-1000  KB C Freys Shirle ENGI  55201-0200  KB C Freys Shirle	LNFT ontracting, LLC sinet, LLC ey Contracting Com INEER'S ESTIMAT  CUYD ontracting, LLC sinet, LLC	CRACK, CLEANING A pany, LLC TE STRUCTURAL CONCI pany, LLC	100 RETE, CLASS A (AE)	7.00 30.00 200.00 5.60 1,550.00 1,600.00	700.00 3,000.00 20,000.00 560.00 46,500.00 48,000.00
41410-1000  KB C  Freys Shirle ENGI  55201-0200  KB C  Freys Shirle	LNFT contracting, LLC sinet, LLC ey Contracting Com ENEER'S ESTIMAT  CUYD contracting, LLC sinet, LLC ey Contracting Com	CRACK, CLEANING A pany, LLC TE STRUCTURAL CONCI pany, LLC	RETE, CLASS A (AE)	7.00 30.00 200.00 5.60 1,550.00 1,600.00 4,500.00	700.00 3,000.00 20,000.00 560.00 46,500.00 48,000.00 135,000.00
41410-1000  KB C Freys Shirle ENGI  55201-0200  KB C Freys Shirle ENGI	LNFT contracting, LLC sinet, LLC ey Contracting Com ENEER'S ESTIMAT  CUYD contracting, LLC sinet, LLC ey Contracting Com ENEER'S ESTIMAT	CRACK, CLEANING A pany, LLC FE STRUCTURAL CONCI pany, LLC FE	RETE, CLASS A (AE)	7.00 30.00 200.00 5.60 1,550.00 1,600.00 4,500.00	700.00 3,000.00 20,000.00 560.00 46,500.00 48,000.00 135,000.00
41410-1000  KB C Freys Shirle ENGI  55201-0200  KB C Freys Shirle ENGI  55401-1000  KB C	LNFT contracting, LLC sinet, LLC ey Contracting Com ENEER'S ESTIMAT  CUYD contracting, LLC sinet, LLC ey Contracting Com ENEER'S ESTIMAT  LB	CRACK, CLEANING A pany, LLC FE STRUCTURAL CONCI pany, LLC FE	RETE, CLASS A (AE)	7.00 30.00 200.00 5.60 1,550.00 1,600.00 4,500.00 600.00	700.00 3,000.00 20,000.00 560.00 46,500.00 48,000.00 135,000.00 18,000.00
41410-1000  KB C Freys Shirle ENGI  55201-0200  KB C Freys Shirle ENGI  55401-1000  KB C Freys	LNFT contracting, LLC sinet, LLC ey Contracting Com ENEER'S ESTIMAT  CUYD contracting, LLC ey Contracting Com ENEER'S ESTIMAT  LLC Ey Contracting Com ENEER'S ESTIMAT  LB contracting, LLC	CRACK, CLEANING A pany, LLC STRUCTURAL CONCI pany, LLC FE REINFORCING STEEL	RETE, CLASS A (AE)	7.00 30.00 200.00 5.60 1,550.00 1,600.00 4,500.00 600.00	700.00 3,000.00 20,000.00 560.00 46,500.00 48,000.00 135,000.00 18,000.00

Date: 01/20/06

#### TABULATION OF BIDS

Schedule: C

Project No.: FEMA 2120-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
56101-0000	LNFT	STRUCTURAL CONC	RETE BONDING		
KB C	Contracting, LLC		150	40.00	6,000.00
Freys	ssinet, LLC			50.00	7,500.00
Shirle	ey Contracting Comp	pany, LLC		90.00	13,500.00
ENG	INEER'S ESTIMAT	E		150.00	22,500.00
56202-0000	LPSM	TEMPORARY SUPPO	RT STRUCTURE		
KB C	Contracting, LLC		ALL	95,000.00	95,000.00
Freys	ssinet, LLC			180,000.00	180,000.00
Shirle	ey Contracting Comp	pany, LLC		80,000.00	80,000.00
ENG	INEER'S ESTIMAT	E		110,000.00	110,000.00
56401-1000	EACH	BEARING DEVICE, E	LASTOMERIC		
KB C	Contracting, LLC		20	3,800.00	76,000.00
Freys	ssinet, LLC			3,000.00	60,000.00
Shirle	ey Contracting Comp	pany, LLC		8,000.00	160,000.00
ENG	INEER'S ESTIMAT	E		2,500.00	50,000.00
61708-1000	LNFT	REMOVE AND RESE	Γ, GUARDRAIL		
КВ С	Contracting, LLC		40	40.00	1,600.00
Freys	ssinet, LLC			50.00	2,000.00
Shirle	ey Contracting Comp	pany, LLC		50.00	2,000.00
ENG	INEER'S ESTIMAT	E		30.00	1,200.00
61805-0000	LNFT	RESET BARRIER (SIN	NGLE FACE JERSEY BA	ARRIER)	
KB C	Contracting, LLC		40	32.00	1,280.00
Freys	ssinet, LLC			60.00	2,400.00
Shirle	ey Contracting Comp	pany, LLC		100.00	4,000.00
ENG	INEER'S ESTIMAT	E		40.00	1,600.00
61901-2100	LNFT	FENCE, CHAIN LINK	, 96-INCH HEIGHT (TE	MPORARY SECURIT	Y FENCE)
KB C	Contracting, LLC		200	15.00	3,000.00
Freys	ssinet, LLC			10.00	2,000.00
Shirle	ey Contracting Comp	pany, LLC		80.00	16,000.00
ENG	INEER'S ESTIMAT	Έ		21.00	4,200.00
61921-1000	LNFT	REMOVE AND RESE	Γ FENCE (CHAIN LINK	<u> </u>	
KB C	Contracting, LLC		190	15.00	2,850.00
	ssinet, LLC			15.00	2,850.00
-	ey Contracting Com	oany, LLC		50.00	9,500.00
Snirie	by contracting com				

Date: 01/20/06

#### TABULATION OF BIDS

Schedule: C

Project No.: FEMA 2120-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-1500	) LNFT	PAVEMENT MARKI	NGS, TYPE H, SOLID		
K	B Contracting, LLC		5,100	0.55	2,805.00
Fr	eyssinet, LLC			0.60	3,060.00
Sh	irley Contracting Comp	any, LLC		1.75	8,925.00
E	NGINEER'S ESTIMATI	E		1.10	5,610.00
63401-1600	) LNFT	PAVEMENT MARKI	NGS, TYPE H, BROKEN		
K	B Contracting, LLC		180	0.55	99.00
	eyssinet, LLC			0.50	90.00
Sh	irley Contracting Comp	any, LLC		2.00	360.00
	NGINEER'S ESTIMATI			0.46	82.80
63405-2900	) EACH	PAVEMENT MARKI	NGS, TYPE H, TURN AF	RROW	
K	B Contracting, LLC		2	165.00	330.00
	eyssinet, LLC			200.00	400.00
Sh	irley Contracting Comp	any, LLC		500.00	1,000.00
E	NGINEER'S ESTIMATI	E		410.00	820.00
63501-2000	) LPSM	TEMPORARY TRAFI	FIC CONTROL, TRAFFI	C SIGNAL SYSTEM	
K)	B Contracting, LLC		ALL	30,000.00	30,000.00
	eyssinet, LLC			15,000.00	15,000.00
Sh	irley Contracting Comp	any, LLC		75,000.00	75,000.00
E	NGINEER'S ESTIMATI	E		55,000.00	55,000.00
63502-1000	) EACH	TEMPORARY TRAF	FIC CONTROL, CONE, T	ГҮРЕ 36-INCH	
K	B Contracting, LLC		30	45.00	1,350.00
Fr	eyssinet, LLC			24.00	720.00
Sh	irley Contracting Comp	any, LLC		75.00	2,250.00
E	NGINEER'S ESTIMATI	E		33.00	990.00
63502-1300	) EACH	TEMPORARY TRAFI	FIC CONTROL, DRUM		
K	B Contracting, LLC		30	200.00	6,000.00
	eyssinet, LLC			70.00	2,100.00
	irley Contracting Comp	any, LLC		150.00	4,500.00
	NGINEER'S ESTIMATI			65.00	1,950.00
63502-1500	) ЕАСН	TEMPORARY TRAFI	FIC CONTROL, WARNI	NG LIGHT TYPE A	
K	B Contracting, LLC		13	60.00	780.00
	eyssinet, LLC			40.00	520.00
1.1	•	11.0			
	irley Contracting Comp	any, LLC		600.00	7,800.00

Date: 01/20/06

#### TABULATION OF BIDS

Schedule: C

Project No.: FEMA 2120-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63502-160	0 EACH	TEMPORARY TRAF	FIC CONTROL, WARNI	NG LIGHT TYPE B	
K	B Contracting, LLC		20	145.00	2,900.00
F	reyssinet, LLC			200.00	4,000.00
S	hirley Contracting Compar	ıy, LLC		350.00	7,000.00
Е	NGINEER'S ESTIMATE			150.00	3,000.00
63502-170	0 EACH	TEMPORARY TRAF	FIC CONTROL, WARNI	NG LIGHT TYPE C	
K	B Contracting, LLC		20	60.00	1,200.00
	reyssinet, LLC			35.00	700.00
S	hirley Contracting Compar	ıy, LLC		500.00	10,000.00
	NGINEER'S ESTIMATE			100.00	2,000.00
63502-230	0 EACH	TEMPORARY TRAF	FIC CONTROL, CRASH	CUSHION, QUADGU	ARDCZ
K	B Contracting, LLC		1	6,100.00	6,100.00
F	reyssinet, LLC			6,500.00	6,500.00
S	hirley Contracting Compar	ıy, LLC		30,000.00	30,000.00
Е	NGINEER'S ESTIMATE			16,000.00	16,000.00
63502-260	0 EACH	TEMPORARY TRAF	FIC CONTROL, MOVIN	G TEMPORARY CRAS	SH CUSHION
K	B Contracting, LLC		1	1,000.00	1,000.00
F	reyssinet, LLC			1,700.00	1,700.00
S	hirley Contracting Compar	ny, LLC		6,000.00	6,000.00
E	NGINEER'S ESTIMATE			1,400.00	1,400.00
63502-270	0 EACH	TEMPORARY TRAF	FIC CONTROL, REPLAC	CEMENT CARTRIDGE	ES FOR
K	B Contracting, LLC		1	600.00	600.00
F	reyssinet, LLC			1,700.00	1,700.00
S	hirley Contracting Compar	ıy, LLC		2,000.00	2,000.00
E	NGINEER'S ESTIMATE			1,000.00	1,000.00
63503-040	0 LNFT	TEMPORARY TRAF	FIC CONTROL, CONCR	ETE BARRIER	
K	B Contracting, LLC		390	50.00	19,500.00
F	reyssinet, LLC			42.00	16,380.00
S	hirley Contracting Compar	ny, LLC		75.00	29,250.00
Е	NGINEER'S ESTIMATE			41.00	15,990.00
63503-050	0 LNFT	TEMPORARY TRAF	FIC CONTROL, MOVIN	G CONCRETE BARRI	ER
K	B Contracting, LLC		385	12.00	4,620.00
	reyssinet, LLC			16.50	6,352.50
S	hirley Contracting Compar	ny, LLC		11.00	4,235.00
F	NGINEER'S ESTIMATE			10.75	4,138.75

Date: 01/20/06

#### TABULATION OF BIDS

Schedule: C

Project No.: FEMA 2120-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63503-0700	LNFT	TEMPORARY TRAFFI	C CONTROL, PAVEM	IENT MARKINGS	
KB (	Contracting, LLC		3,700	1.00	3,700.00
Frey	ssinet, LLC			1.20	4,440.00
Shirl	ey Contracting Compa	any, LLC		2.50	9,250.00
ENG	INEER'S ESTIMATE	3		1.55	5,735.00
63503-0800	LNFT	TEMPORARY TRAFFI	C CONTROL, PAVEM	MENT MARKING REMO	OVAL
KB (	Contracting, LLC		5,100	1.00	5,100.00
Frey	ssinet, LLC			1.20	6,120.00
Shirl	ey Contracting Compa	any, LLC		2.00	10,200.00
ENG	INEER'S ESTIMATE	3		1.25	6,375.00
63504-1000	SQFT	TEMPORARY TRAFFI	C CONTROL, CONST	RUCTION SIGN	
KB (	Contracting, LLC		196	22.00	4,312.00
Frey	ssinet, LLC			27.00	5,292.00
Shirl	ey Contracting Compa	any, LLC		50.00	9,800.00
ENG	INEER'S ESTIMATE	3		18.50	3,626.00
63506-0500	HOUR	TEMPORARY TRAFFI	C CONTROL, FLAGG	BER	
KB (	Contracting, LLC		140	19.00	2,660.00
Frey	ssinet, LLC			19.00	2,660.00
Shirl	ey Contracting Compa	any, LLC		19.00	2,660.00
ENG	INEER'S ESTIMATE	3		19.00	2,660.00
64502-0000	EACH	LOCATE UTILITIES			
KB (	Contracting, LLC		1	5,950.00	5,950.00
Frey	ssinet, LLC			1,200.00	1,200.00
Shirl	ey Contracting Compa	any, LLC		4,000.00	4,000.00
ENG	INEER'S ESTIMATE	3		800.00	800.00

Date: 01/20/06

Schedule: C

Project No.: FEMA 2120-1(1)

Project Name: MOUNT WEATHER EMERGENCY OPERATIONS CENTER (AMENDMENT #3)

BID ITEM CHECK PASS

No extension errors in this Schedule.

Schedule: C

Project No.: FEMA 2120-1(1)

Project Name: MOUNT WEATHER EMERGENCY OPERATIONS CENTER (AMENDMENT #3)

#### BID TOTAL CHECK PASS

Date: 01/20/06

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
KB Contracting, LLC	464,013.50	464,013.50	
Freyssinet, LLC	576,639.50	576,639.50	
Shirley Contracting Company, LLC	1,039,945.00	1,039,945.00	

The apparent low bidder is 3 % above the engineer's estimate.

Schedule: B

Project No.: FEMA 2120-1(1)

Project Name: MOUNT WEATHER EMERGENCY OPERATIONS CENTER

State: VA

Opened at: EFLHD, STERLING, VA

County: CLARKE

By: P. Schaad/ A. Underwood

FEMA-MT. WEATHER EMERGENCY

Date: 01/19/06

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Peggy L. Schaad

Title: Contract Specialist

Date: January 20, 2006

Contract Awarded to: KB Contracting, LLC

Date:

Contractor	Bid Amount	Responsive
Shirley Contracting Company, LLC	8,865.00	
8435 Backlick Road Lorton, VA 22079		
Freyssinet, LLC	9,875.00	
44880 Falcon Place, Suite 105		
Sterling, VA 20166		
KB Contracting, LLC	15,655.00	
10208 Van Thompson Road	11	
FairFax, VA 22039		
Engineer's Estimate	10,000.00	

#### TABULATION OF BIDS

B I D S Date: 01/20/06

Schedule: B

Project No.: FEMA 2120-1(1)

Project Name: MOUNT WEATHER EMERGENCY OPERATIONS CENTER

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15201-0000	LPSM	CONSTRUCTION SUR	RVEY AND STAKING		
Shir	ley Contracting Com	pany, LLC	ALL	3,000.00	3,000.00
Frey	vssinet, LLC			1,900.00	1,900.00
KB	Contracting, LLC			3,625.00	3,625.00
ENG	GINEER'S ESTIMAT	E		337.50	337.50
20302-1200	LNFT	REMOVAL OF GUAR	DRAIL		
Shir	ley Contracting Com	pany, LLC	170	2.00	340.00
Frey	vssinet, LLC			5.00	850.00
KB	Contracting, LLC			6.00	1,020.00
ENG	GINEER'S ESTIMAT	E		6.25	1,062.50
61701-1950	LNFT	GUARDRAIL SYSTEN	1 G4, TYPE 4, CLASS B	S STEEL POSTS	_
Shir	ley Contracting Com	pany, LLC	25	25.00	625.00
Frey	vssinet, LLC	•		45.00	1,125.00
KB	Contracting, LLC			58.00	1,450.00
ENG	GINEER'S ESTIMAT	E		40.00	1,000.00
61702-0800	EACH	TERMINAL SECTION	TYPE TANGENT		
Shir	ley Contracting Com	pany, LLC	2	2,000.00	4,000.00
Frey	vssinet, LLC			2,500.00	5,000.00
KB	Contracting, LLC			3,480.00	6,960.00
ENG	GINEER'S ESTIMAT	E		1,800.00	3,600.00
61707-1000	LNFT	STRUCTURE TRANSI	TION RAILING, G4 SY	STEM	_
Shir	ley Contracting Com	pany, LLC	50	18.00	900.00
Frey	vssinet, LLC			20.00	1,000.00
KB	Contracting, LLC			52.00	2,600.00
ENG	GINEER'S ESTIMAT	E		80.00	4,000.00

Date: 01/20/06

Schedule: B

Project No.: FEMA 2120-1(1)

Project Name: MOUNT WEATHER EMERGENCY OPERATIONS CENTER

BID ITEM CHECK PASS

Extension Extension	Bidder	Item No.	Bidder's Extension	Computed Extension
---------------------	--------	----------	-----------------------	-----------------------

No extension errors in this Schedule.

Schedule: B

Project No.: FEMA 2120-1(1)

Project Name: MOUNT WEATHER EMERGENCY OPERATIONS CENTER

#### BID TOTAL CHECK PASS

Date: 01/20/06

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Shirley Contracting Company, LLC	8,865.00	8,865.00	
Freyssinet, LLC	9,875.00	9,875.00	
KB Contracting, LLC	15,655.00	15,655.00	

The apparent low bidder is 11 % below the engineer's estimate.